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RREH—ER

ITE4 R2E+ EE438F E-KEBF)IL2 #HETECN)
E2E R BAfS B iy e
non g U9 —hak (ERR) m3 2,100 [L=60.0kmLL T




B E B B X
I & Al oAl H OB Bfi| #%=E |[FLEHE| & %
EERTT = 1.0
tT Al + ® m 82.5 80
® 5 m° 1.0 0
R + ® m 70.0 70
® 5 m 2.0 0
HRL c m° 28.0 30
HtuE m° 110.0 110
BWET =X 1.0
YL avHy—+ m° 9.0 9
I vy )—+h m° 9.0 9
BhEEMM - EIH  |H—KL—L Gr-C-4E m 11.0 11
T = 1.0
BRHIEEE T = 1.0
avy)—+h 0 282 24N/mm’ m° 28.3 28 [19.7+8.6
g e 8 m’ 86.9 87 |56. 7+30. 2
KikENA T VP ¢ 65 m 5.0 5
Larsy—+ |o28=18N/mn’ m’ 1.5 2
=Lk = 855 m’ 1.5 2
XBRIT ZZm3 17.4 17
B th#t ISREA b =10mm) | m 2.9 3 (2.0+0.9
885 SD345 D25 ke 0.0 0
D345 D16 ke 169. 0 169
D345 D13 ke 456.0 456




B E B B X
I 7& B oAl oAl I Bl #=E |dL%=E|H =
7 o h— iRt EEE = 1.0
avy)—+h 0 282 24N/mm’ m° 44.2 44 (35.5+8.7
g e m? 104.2 104 |71.0+33.2
537 D345 D25 ke 1266. 0 1,266
D345 D16 ke 1149.0 1,149 |980+169
D345 D13 ke 582.0 582 [126+456
Larsy—+ |o28=18N/mn’ m’ 0.8 1
GRS m’ 1.5 2
HEERE m’ 1.7 8
XBRT ZZm3 56. 8 57
KigE/ 1 T VP ¢ 65 m 10.3 10
Ri5T HEEN Hhm2 104. 2 104
MzgEa> o U—bk |o28=18N/mn’ m’ 10.0 10
Foh—I = 1.0
Td<400kN P 6.0 6
HIFLE ¢ 90mm, Co m 2.4 2
¢90mm, LXEL| m 9.4 9
@ 90mm, BE m 42.2 42
FUoh—FK m 57.5 58
AN T RYIFLUISy a7 m 68.0 68
EATSULE m° 1.2 1
7Uh—RiS 2Zm3 307.5 308
FhEé T = 1.0
A—FL—L = 1.0
A—FKL—L Gr-C-2B m 40.0 40
537 D345 D13 ke 182.0 182




T I % = & & =
]

FER - #A5I O = B | #E tEHE
ERTT

AT HUiEE TR 82.5 m’ 82.5 80

YRS #E 1.0 m’ 1.0 0

80

RIEL RiE T8 70. 0 m’ 70. 0 70

RiE #a 2.0 m’ 2.0 0

BRET T 28.0 m’ 28.0 30
BraET

BELasn T ® m’ 110.0 110




B K T+ I # 1 x
TiE FE 7 2% | +t® | ¢ | Zatms % =
FET
150 150 130
YR T 0.9 80 80 70
e | 1.15 0 0 0
R T 0.9 70 70 60
e | 1.15 0 0 0
WE+ HBR+ T 30 30 30
ELT et 110 110
T HENn T 0.9 110 110 100 130-30=100
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TEE
50( 7000 7000 50q
15000
A FRHE g =X B =
PEEEER (1.045 1))
avy1)—+bk [(0.91-1.75% (0. 50-0. 30) +0. 91) *0. 5x1. 75 1.29 m3
ock=24N/mm2
B OB 1.75% (y~ (1+0.572) +/ (1+0.372)) 3.78 m2
—fi% - i
Kik/NA4 T ((0.91-(1. 75-0. 2-0. 268) * (0. 50-0. 30) ) +0. 91) *0. 5x (1. 75-0. 2-0. 268) /3.0 0.33 m2
(1. OEFRr/3. Om2)
Warsy—k| (1.01+1.01-0. 10x0. 30) *0. 50%0. 10 0.10 m2
ock=18N /mm2
FLEE £ 0. 10+0. 10xy (1+0.372) 0.20 m2
—h% - B\
sRHER(1.0& )
ayvsy—k |1.90%2. 00-0. 25%1. 4-((0. 91-1. 75% (0. 50-0. 30) +0. 91) *0. 5%1. 75) -
ock=24N/mm2| (0. 89+1.057) 0. 5x0. 268- (1. 057+ (1. 057-1. 182+0. 5) *0. 5x1. 182) 0.57 m3
IR
—h% - KA 0. 55+0. 25+0. 89+ (0. 1677 2+0. 26872) 2.01 m2
XRT (0. 89+1.057) *0. 5x0. 268+ (1. 057+ (1. 057-1. 182x0. 5) ) 0. 5*1. 182 1.16 Z=/m3




Al sRHEEEET
Jn vy REEET

SRHEERTIEEE

X p 2
A FRHE g ®x 7 # =
PEEEY
avolyy—+F 1.29%15. 0+0. 5%0. 25%1. 30%2 19.7 m3
ock=24N /mm2
BB 3.78%15.0 56.7 m2
—i% - |5
B #h av91)—kV/10.0 2.0 m2
Kik/sA4 T 0.33%15.0 5.0 m
(1. O FR/3. Om2)
¥Warsoy)y—+k  [0.10%15.0 1.5 m3
ock=18N /mm2
FLEE £ 0.20%15.0 3.0 m2
—i% - |5
IR ER
avol)—+F 0.57%15.0 8.6 m3
ock=24N /mm2
B OB 2.01%15.0 30.2 m2
—fi% - %A
B #h a9 1)—kV/10.0 0.9 m2
BRI 1.16%15.0 17.4 2Z=/m3
£S5
D13 450 kg
D16 159 kg
D25 557 kg
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X ya il
g ®
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500 1400 N I . ‘:
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1l avyy—r 15000
00 240/t DL=1245. 00 DL=1245.00
FEE
51 HLavsy—t o§
o, =18N/mm 2 §
500 2 7
500 14000 500
15000
R R g = B =
PEREER (1.0451))
avyoy—+r (H-0. 25) *%0. 51 0.51H-0. 128 m3
ock=24N/mm2
BB (H-0.25) %y~ (1+0.272) 1. 020H-0. 255 m2
— % - BkER
Kik/S4 T (H-0.55-0.294) xy~ (1+0.272) *0.5/3.0 0.17H-0.143 m
(1. OEFRr/3. Om2)
Hars1)—k10.51%0. 10 0.05 m2
ock=18N /mm2
FLEE £ 0. 10xy (1+0.272) 0.10 m2
—H% - |Hin
BRHEER(1.0H 1Y)
ayvs1)y—k |0.25%0. 50+ (1. 39+ (1. 39-0. 2% (0. 30+0. 294) ) ) 0. 5% (0. 30+0. 294) -
ock=24N/mm2|(1.029+1. 271) %0. 5x0. 294 0.58 m3
B B
—h% - KA 0. 55+0. 25+1. 029+ (0. 29472+0. 242"2) 2.21 m2
XKRI RIEE SR 22 /m3




T oh—{IRHERTHES
2 Al 7oh—{tRHEERET
JOvY  7Uoh—{tiRHEEERT
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1900
1900 500 1400
1900 500 1400
500 1400 1390
1390
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I o j:;m
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| 0
™M»m ™
7| 3
8 i
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3 2 R /
x q
~ 3. 35Z2m3
4.06zEm3 4.11%2m3
R 3R g = B =
XHRI
H=5.419m 4.06 z=/m3
H=5.5m 4.11 2=/m3

H=3.988m 3.35 z=/m3




avy)y—+ FHEX
& Mm.avyo)—F+ FHER A=0. 51xH-0. 128
H L avyoy—+r
pilP=T BEE ER #= (A
a8l (H1) | #2548 (H2) iR =8l (A1) | #2518 (A2)

NO. 0+7. 50~
NO. 0+10.0 5.419 5.550 2.50 2. 64 2.70 6.7
NO. 0+10. 0~
NO. 1+2. 50 5.550 3.988 12.50 2.70 1.91 28.8

I E 15.00 35.5

= 5t 15.00 35.5




B HEXR
& R HEX A=1. 020%H-0. 255
H L B #
Bl = BS ER BEW
e (HY) | #& R (H2) e (A1) | #& ARl (A2)

NO. 0+7. 50~
NO.0+10.0 5. 419 5. 550 2.50 5.27 5.41 13.4
NO.0+10.0~
NO. 1+2. 50 5. 550 3.988 12. 50 5.41 3.81 57.6

N 5 15. 00 7.0

& & 15.00 71.0




Kik/N4 T EHEX
2 MoKkk4 T FER A=0. 17%H-0. 143
H L KikZE/NA4 T
paf=1 By TR HE W
R =R (H1) | #2548 (H2) R =Rl (A1) | #2548 (A2)

NO. 0+7. 50~
NO. 0+10. 0 5.419 5. 550 2.50 0.78 0. 80 2.0
NO. 0+10. 0~
NO. 1+2. 50 5. 550 3.988 12.50 0. 80 0.53 8.3

N st 15. 00 10. 3

& & 15. 00 10. 3




XRI FHEX
& BRI OEEX
H L XRT
pilP=T BEE ER #= (A
a8l (H1) | #2548 (H2) iR =8l (A1) | #2518 (A2)

NO. 0+7. 50~
NO. 0+10. 0 5.419 5. 550 2.50 4. 06 4.11 10. 2
NO. 0+10. O~
NO. 1+2. 50 5. 550 3.988 12. 50 4.11 3.35 46.6

B 15. 00 56. 8

s 15. 00 56. 8




BB 7Uh—fEHEET
JOvY  7Uh—{HRHEET

T Uh—fRHERTIHES

X ya il
A FRHE g = # =
PEEEER
avyoy—+r 35.5 m3
ock=24N /mm2
B 71.0 m2
—i% - |5
Kk S4 T 10.3 m
(1. 0& /3. 0m2)
Waro1)—F ]0.051%15.0 0.8 m3
ock=18N /mm2
FLEE & 0.10%15.0 1.5 m3
—fi% - i
HEEEIFE 0.51%15.0 7.7 m2
E5 0]
S D345|D13 126 kg
D16 980 kg
D25 1266 kg
5 AR
avolyy—+F 0.58%15.0 8.7 m3
ock=24N /mm2
BB 2.21%15.0 33.2 m2
—h% - &A@
XRT 56.8 =2=/m3
£S5
S D345|D13 456 kg
D16 169 kg
D25 0 kg




Foh—T

Z E I EMEE
Foh—I&HE 1.0 Y
B OA A B O ®& Bifr #H =E FLEHE
FUoh-I
T Uh—KE %N 6.0 6
® H Co ¢90 m 2.4 2
" L¥ELE ¢90 m 9.4 9
" 8 ¢ 90 m 42.2 42
Foh—E m 57.5 58
RyTFLY
SEASA T IS5y kB4 T m 68.0 68
EATSHLE m’ 1.2 1
BiHT zn’ 307.5 310




7 o h—RNiRE
| & #® | @& & |wm| 00T & % H E
T oh =K ¥ 6 6
Co m 2.4 2.4 $ 90
I L¥EL m 9.4 9.4 $ 90
A m 42.2 42.2 $ 90
& & m 54.0 54.0
HEE m 39. 000 39. 000
. EEE m 18. 000 18. 000
£ E m 0. 480 0. 480
& m 57. 480 57. 480
ZEPCH&L YR m 57.480
7| kmerray & 6 $35048 4 =
h TH< a3y K 6 S35CHE L
i BheE R B M m 49. 920 R TFL S
+ v b e 6 S45C
Foh—TL—t M 6 SS400, FEnA ¥
AbynR—o—x 1@ 6 RUITFLY
' A& K #H 6 SE5CHILE XEN TS —BT
ABSAR—H— & 12 ABS#t s
TFoh—Fvv7 & 6 7L = 5%
BEHHET—7 L=50cm & 6
SEARA T I25v k47| m 68. 000 68. 000 RYTFLY
FEATSYLE m3 1.160 1.160




F7oh—1I1
<F40UA>
Jovs| 55 | ame | 25 | 2 BE | 2 B . R S—
Co |LxELX|®X & & &
1 7.000 3.000 0. 080 10. 080 0.4 2.3 6.8 9.5
2 5.500 3.000 0. 080 10. 080 0.4 0.5 7.1 8.0
3 7.000 3.000 0. 080 10. 080 0.4 2.3 6.8 9.5
4 5.500 3.000 0. 080 10. 580 0.4 0.5 7.1 8.0
5 7.000 3.000 0. 080 10. 580 0.4 1.9 1.2 9.5
6 7.000 3.000 0. 080 10. 580 0.4 1.9 1.2 9.5
& i 39. 000 18. 000 0.480 61.980 2.4 9.4 42.2 54.0
7 oh—ERH 6 &
TER: $90




1))

2)

3)

4)

5)

6)

1)

8)

9)

10)

11)

12)

13)

14)

24 TILTUH—UR  (FAOUA)
N= 6 &
L= 620 m

&< 3 (S35CHEHm)
N= 6 &

THT L 3 (S35CHLS)
N= 6 &

F v b (S45C)
N= 6 f&

Foh—TL—F (85400, #FEhA vF)
1220 x 220 x 28
N= 6 I

AbyIR—o—Z (RYZTFLY)
N= 6 &

EFK (SHOCHEHEH, XEHTS—ET)
N= 6 #A

HEEHEM (KU ITFL Ui
ErE= 2.01 m
L=62.0 — 2.01 x 6 = 49.920 m

AR R T—
L= 50 cm
N= 6 &HFr

AB S AXAR—HY— (ABS#ifg)
N= 12 @&

Toh—Fvv T (78
N= 6 &

HIALE (#90)
L=24 + 9.4 + 422 =
T B L¥XEX T

FEATSONE
V= 7x/4 x 0.090 % x (39.0418.0) x

FEANRAT (75 v hE4TF, RUTFLY)
N TRE= 1.000 m
L=1.000 x 6 4+ 61.980 =

954.0 m

3.2 =

68.0

1.160 m’



T Uoh—REBEHE

5 BHERIG
A & = E'?,Z = — B =
A W E Ty B B

NO. 0 +  7.500 17.2
NO. 0 + 10000 | 2 500 1721 17.20| 43.0
NO. 1 + 0000 10 000 23.8 | 20.50 | 205.0
No. 1+ 2500 | 2 500 23.8 | 23.80 | 59.5

& 1 15.000 m 3075 7=




Ei!
St

Bh M T % 2 £

R - KA H OB BfL neE TL#E=E & &

(BRI EEHR T
H—KL—L m 34.0 34 BEYA

(10.Omzy V) #12)

A—FKL—L Gr-C-2B m 10.0

(Z#EH=)

X ¥ 20.0 20

CEEN SD345 D13 kg 165. 6 166 8. 28kg/A




B

E WM I %=

R

7Rl ERRIREEM T

A—FL—
D13
£ &
¢! @
FRIFLEREELLL | 8
| Gr-G-2B o D13
FAMEE - =8
@3 3 D13
300
8E 330
S H 2% (SD345) THHLY % S g
s | & R % | EE ke sl 3 g s 8
[ONIEE 1490 2 2.966 S 3 - < |
@) | oi3 1250 2 2.488 ) D) M
® D13 1420 2 2.826
=] 8.280 §E (3 2-D13x1420
(10.0m& Y))
I ] mE 1 E B | & E
A—FL—L Gr-C-2B m 10.00
SR SD345 D13 (I&EfHY) kg 8.28




hEEM I =t 8=
H—FL—L ERFE
Al o R-L E K w =
NO. O + 7.5 ~ NO. 1 + 2.5 L 17.0 m ZHEI10K
aA—F—#AH
NO. 3 + 0.0 ~ NO. 3 + 15.0 L 17.0 m ZHEI10K
aA—F—#AH
a8 F 34.0 m
%z W BB g = Bifr H =
TR EX A SD345 D13 XX N=20K
20x 8. 28kg kg 165. 6




